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Money word problems. 

 

$2 $3.30 $1.25 $2.82 $11 $5 

₵20 ₵50 $3.50 ₵40 $5.62 ₵5 

Name:______________________                                                                                                  Date:___________________ 

Money 

Alice buys dozen bananas. How much money does she pay? 

Anne bought 4 apples and Karol 3 pumpkins. Who spent more money? 

Barbara family spends $ 77 on buying cakes. Each member is allowed to take 

only one cake. How many members are there in Barbara family? 

Macy announces ‘buy 2 get 1 offer’ on watermelons. If Polly spends $10 on 

buying watermelons, how many watermelons will she get? 

Mary has $ 26 in her wallet. How many cones does she buy with that money? 

Karol bought nine corns and five milk packets. If she pays the money with a 60 

dollar bill, how much change will she get? 

1) 

3) 

4) 

5) 

2) 

6) 
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Money word problems. 

$2 $3.30 $1.25 $2.82 $11 $5 

₵20 ₵50 $3.50 ₵40 $5.62 ₵5 

Name:______________________                                                                                                  Date:___________________ 

Money 

Alice buys dozen bananas. How much money does she pay? 
$6 

Anne bought 4 apples and Karol 3 pumpkins. Who spent more money? 
Karol 

Barbara family spends $ 77 on buying cakes. Each member is allowed to take 

only one cake. How many members are there in Barbara family? 7 

Macy announces ‘buy 2 get 1 offer’ on watermelons. If Polly spends $10 on 

buying watermelons, how many watermelons will she get? 3 

Mary has $ 26 in her wallet. How many cones does she buy with that money? 
13 

Karol bought nine corns and five milk packets. If she pays the money with a 60 

dollar bill, how much change will she get? 

1) 

3) 

4) 

5) 

2) 

6) 
$12.80 


